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Instructions : 

(i) All questions are compulsory. 

(ii) Question Nos. 1 to 4 are objective type questions. Each question carries 
5- marks. 

(iii) Question Nos. 5 to 7 are very short answer type questions. Word limit is 
approximately 30 words to answer. Each question carries 2 marks. 

(iv) Question Nos. 8 to 10 are short answer type questions. Word limit is 
approximately 75 words to answer. Each question carries 3 marks. 

(v) Question Nos. 11 to 15 are long answer type questions. Word limit is 
approximately 120 words to answer. Each question carries 4 marks. 

(vi) Question Nos. 16 to 18 are long answer type questions. Word limit is 
approximately 150 words. Each question carries 5 marks. 

(vii) Question Nos. 5 to 18 have internal choice. 

(viii) Draw neat and labelled diagrams. 
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(i)  	RetAci 	qi cbm•   ct) 	t I 

*11-4A bT st)1-1)1'41c4iq 	ft1Wf - 	 3117' WI-4T q-10- -47T 
M 	ci R)qi TIEET I 

.N)ti) 4ftrwr cirziidc 	qiqg 4 .7fkq- 
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(v) 3.147-ff 4E6   ci•)1 s1 I d 	I t I 
Fill in the blanks : 

(i) Which fruits develop without fertilisation are called 	 
(ii) Chromosomal theory of inheritance is given by 	and Theodore 

Boveri. 

(iii) Capacity to generate a whole plant from any celllexplants is called 

(iv) Each restriction endonuclease recognises a specific 	 
DNA. 

(v) The Amazon rain forest is so huge that it is called the 
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	v.11 Ti74-1111" eTRAZ[1:1" ci 	 Mita' WM' 	 ? 

(31") 1986 	 (it) 1974 

Os) 1968 	 0.) 1981 

oose the correct options : 
Kingdom Fungi reproduces asexually by : 

(a) 	Fission 	 (b) 	Budding 

(c) 	Gemmule 	 (d) 	Conidia 

Which is the golden period of Dinosaurs or Reptiles ? 

(a) Mesozoic (b) Coenozoic 

(c) Azoic (d) Palaeozoic 

Cirrhoris of liver is caused by : 

(a) Fat (b) Vitamins 

(c) Tobacco (d) Alcoholism 

Bt toxin is produced by : 

(a) Brecikar Nepus (b) Bacillus Thuringiensis 

(c) Azola (d) Rizobium 

i) 

Environmental Protection Act was passed in : 

(a) 1986 
	

(b) 1974 

(c) 1968 
	

(d) 1981 
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c.f) 	clictq 	.11N7 : 	 1x5=5 

(i) 14.)e-1-1 LaRvi ctmi 	 qwT kc.tm 	c61 3ritz-fr ctql 	 ? 

(ii) DNA t N11s T*9-17 	 #4 *Fur cb 	(di 

(iii) mtita- 	cuoi cb)sh-r fir 9-wr c1 	? 

(iv) 1c1 L1101 Bbl 	 cl-)0 	 ? 

(v) .q,4"1:11rf gl(1 	1-Z/(1(4c1c11( kq'A u l 1-1%5,14-1 co) ctqi c.t) 

Answer in one word / sentence : 

(i) Name the process of release of ovum from grafian follicle. 1---: 
or.) 

(ii) The name of DNA segment which synthesized polypeptide chain. 

(iii) Name the codon which code methionine. 

(iv) What we called rearing of fishes ? 

(v) Methods for controlling insects/weeds by microorganism 

4 	Ter 1x5=5 
C.D 

*A 	: 

(a) IUCD (1) 
N) 

(b) LicbiRdi (2) 
(.-r1 

(c) (3) 10% fkz:Fr 

(d) 411 rici f414-u ctTh-9-  (4) T 

(e) \3.),111 	1A-4M-  (5)  cri 
N) 

(6)  (i ,3-1 	444-1 cri 

Match the columns : 

(a) IUCD (1) Melanism 

(b) Mutualism (2) Humulin 

(c) Biston bitularia (3) 10% Law 

(d) Man made Insulin (4) Copper T 

(e) Energy Flow (5)  Lichens 

(6)  Rizobium 
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cbloi t 	4-mw 	kq 	 ittm-  ee t ? 	 2 

e the reason the human testes are situated outside the Abdominal Cavity. 

aitMT / 

micbc&-1 q Trl-f 	ctqi t ? 

What is medical termination of pregnancy ? 

I 

6 	 cUJ itt4 ct.) 	? 1ct 	ii tri4gI 	 2 

What is somatic hybridisation ? Give an example. 

4 	 / OR 

	 "NtgR I 

Write economic importance of Spirulink. 
i..; 

aTr449- 	.a-r-ozr4 foiti7 
	 2 

at is Biomagnification ? 

OR 

fTfTThT 	t141 ,6'1 	c1 	I9 1iftg7 

ite the names of levels of biological organisation of biodiversity. 

8 	a- -4-# (170 t ? -k;Frq ch.) 	 tr1=N• cbt -119 WitR I 	3 

What is parturition ? Write the name of hormone which induceds 

parturition. 

/ OR 

	 NNT 4;1 -19Z 	I 

Define amniocentesis prOcess. 

4 
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9 	aTrIqt%ct)ci: tn4lciFkd 	(GMO) 	ct>0 	? 	 I 	3 

What is Genetically Modified Organism (GMO) ? Write its importance. 

War OR 

	 cb) Tif411?1 	fffitrq 

Write short note on Biopyracy. 

10 	1--e-TA Ti-T4-Tur 	 ;trr 	? 
	

3 

What is In-Situ conservation and Ex-situ conservation ? 

zraiM / OR 

.7311- 	 csii 	fo-ftrq 

Write about green house effect. 

11 	41EYek 	 ctcif 	? cc.b 3T'rker9' ti(tp-ii fl4-1*-11 	I 	 4 

What is Operon model ? Describe structure of Lac Operon. 

zitr4T / OR 

DNA 	mRNA 	4 ir —Err fT wr co 	 IWitrq I 

Describe the process of mRNA synthesis by DNA. 

12 	 =1-1=ii% 3i1T 	34--d7 foitrqI 	 4 

Differentiate between Homologous and Analogous organs. 

ZIP-MT / OR 

cilq 	•1citi)1114)ci1q 4 31-a-T Poitrq I 

Differentiate Lamarckism and Neo Lamarckism. 
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tist) ct)  	i#ftgM i 
	 4 

the life cycle of Plasmodium with diagram. 

aPi4T / OR 

tf-414 cl -,R1-11 	f•UF- Wu uI i cht 1 

cribe the structure of Antibody with labelled diagram. 

EM 	I 	? t•1 TliTt 	N—q mcw -ufkgq t ? 
	

4 

is Sewage ? In which way can Sewage be harmful to us ? 

Mer4T /OR 

'Mu fhc-Ncil 	 \Al; 1I 	eta7 WZIg 1 

at are the key differences between primary and secondary sewage treatment ? 

317. 	 Tiro .t1* t 
	 4 

scribe briefly PCR with diagram. 

314-41 /OR 

Tata.  TO-ca yUSrt 

scribe briefly downstream processing with diagram. 

1\31•1.1 4 ai-d-T f4ftrq 
	 5 

ifferentiate between Asexual and Sexual reproduction. 

WWI / OR 

	 ff2TT ITT-4 	ilUI 4 ,3-1--d-T fdltrq 1 

ifferentiate between self-pollination and cross-pollination. 
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17 	et) 	shits 	WEI171" cbtcl 	 5fITTNUT ftzfrf q ct4itsmi c,EN-7 I 	5 

Explain the law of dominance using a monohybrid cross. 

aTergi / OR 

4-1T0.1 	bi 141 	c4)   4P ii 	iI is .wr qui," '11* I Nit- 	tiftu Noi 
	 liitOT     1aT4 

Explain the inheritance of haemophillia when diseased father and normal 
mother will produce children. 

18 TIFTi* TW 4 LIN L)-11 clIc; aTrwrt- Rr 	ul 11iti7i (cbli 6) 	5 

Write morphological adaptation in Xerophytes plants. (any 6) 

aTERT / OR 

(giq sl-um 	iu t-PA7 

Explain Food Chain. 
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